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Description: 
​
 India’s Index of Industrial Production (IIP) growth slowed to a six-month low of 2.9% in 
February 2025, mainly due to reduced momentum in the mining, manufacturing, and 
electricity sectors. Capital goods emerged as the only bright spot with 8.2% growth. The 
decline in growth across most sub-sectors compared to the previous month signals a volatile 
and subdued industrial outlook. 

Key Points: 
●​ IIP growth slowed to 2.9% in February 2025 (vs 5.8% in January). 
●​ Mining sector growth was 1.6%, down from 8.1% last year. 
●​ Manufacturing grew by 2.9%, slower than last year’s 4.9%. 
●​ Electricity output rose 3.6%, down from 7.6% YoY. 
●​ Capital goods output saw 8.2% growth—the highest among all segments. 
●​ Intermediate goods grew 1.5%; consumer non-durables declined 2.1%. 

  

भारत की औद्योगिक उत्पादन वदृ्धि फरवरी 2025 में घटकर 2.9% पर 

विवरण: 
​
 भारत की औद्योगिक उत्पादन सचूकांक (IIP) की वदृ्धि फरवरी 2025 में घटकर 2.9% हो गई, जो छह 
महीनों का न्यनूतम स्तर है। खनन, निर्माण और बिजली के्षत्र में ससु्ती इसका मखु्य कारण रही। पूजंीगत 



वस्तओु ंकी वदृ्धि दर सबसे अधिक 8.2% रही। अधिकतर उप-के्षत्रों में मासिक आधार पर गिरावट ने 
औद्योगिक उत्पादन को अस्थिर और मदं दर्शाया। 

मखु्य बिदं:ु 
●​ फरवरी 2025 में IIP वदृ्धि 2.9% रही। 
●​ खनन के्षत्र की वदृ्धि 1.6%, पिछले वर्ष 8.1% थी। 
●​ निर्माण के्षत्र में 2.9% की वदृ्धि (पिछले वर्ष 4.9%)। 
●​ बिजली उत्पादन 3.6%, पिछले वर्ष 7.6% था। 
●​ पूजंीगत वस्तओु ंमें सबसे अधिक 8.2% की वदृ्धि। 
●​ इंटरमीडिएट गडु्स में 1.5% और उपभोक्ता गरै-स्थायी वस्तओु ंमें 2.1% की गिरावट। 

  
1. What was the main reason behind the IIP growth slowing to 2.9% in February 2025?​
 a) Increase in inflation​
 b) High base effect and weak mining/manufacturing​
 c) Rise in imports​
 d) Decrease in consumer demand 
Answer: b) High base effect and weak mining/manufacturing​
 Explanation: The slowdown was attributed to a high base from the previous year and 
sluggish growth in the mining and manufacturing sectors. 
 
1.फरवरी 2025 में IIP वदृ्धि घटकर 2.9% होने का मखु्य कारण क्या था?​
 a) महंगाई में वदृ्धि​
 b) उच्च आधार प्रभाव और खनन/निर्माण में मदंी​
 c) आयात में वदृ्धि​
 d) उपभोक्ता मांग में कमी 
उत्तर: b) उच्च आधार प्रभाव और खनन/निर्माण में मदंी​
 व्याख्या: पिछले वर्ष की उच्च आधार दर और खनन व निर्माण के्षत्रों की ससु्ती के कारण IIP वदृ्धि धीमी हुई। 
  
2. Which segment recorded the highest output growth in February 2025 as per use-based 
classification?​
 a) Consumer durables​
 b) Electricity​
 c) Capital goods​
 d) Intermediate goods 
Answer: c) Capital goods​
 Explanation: Capital goods output rose by 8.2%, the highest among all segments in 
February. 
 
2.फरवरी 2025 में उपयोग-आधारित वर्गीकरण के अनसुार सबसे अधिक वदृ्धि किस के्षत्र में हुई?​
 a) उपभोक्ता टिकाऊ वस्तएंु​
 b) बिजली​
 c) पूजंीगत वस्तएंु​
 d) इंटरमीडिएट वस्तएंु 
उत्तर: c) पूजंीगत वस्तएंु​
 व्याख्या: फरवरी में पूजंीगत वस्तओु ंकी वदृ्धि दर 8.2% रही, जो सभी वर्गों में सर्वाधिक थी। 
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